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Attempt all the questlons. All quest 8t
This papor carries negative marking, 25% mark:
wrong answer,

will ba deducted for each

Total time : 3 hrs
Total Marks : 200
English — Hindl Bllingual

Choase the carrect answer;

1 Marks:3 | 1 Marks : 3
The trimmed size of A2 drawing paper is...... A2 FET F AT AT ... BN ORI
<JA  420mm x 594mm -'l' - 420mm x 584mm
B 841mm x 1188mm B 841mm x 1189mm
C 584mm x 841mm € 594mm x 841mm
D 297mm x 210mm ~ 287mm x 210mm
2 2 Marks : 3
Traditional brick size is... ... QTR S PSR ... BRI B
“A  20cm x cm x Sem A 20cm x 9cm x 9cm
‘B 19cm x 9cm x 9cm | B 18m x 9cm x Sem
vC 20zm x 10em x 10cm | € 20cmx 10cm x 10cm
D 23cmx 11.43cm x 7.62cm D 23cm x 11.43cm x 7.62cm
3 Marks:3 |3 Marks : 3
Which bond consists of alternate coursaof | ¥ &1 dis ¥8T SfC Qe 0 AN e 87
headers and stratcher? \
A English bond
B Flemish bond
C Stretcher bond
D Header bond {1E: Marks : 3
4 Marks:3 | HR@ gger R A0 7 o 87
Which category of rock is marble? A @¥eT WM
A Sedimentary rock B ST SgER
B Igneous rock ‘ € WA #EEM
C Metamorphic rock “' TSl JE
D Mountain rock B Marks : 3
5 Marks:3 | @0 @ arg, wonid wr  awaen R s
Which sand is used for masonry work? &7
A Pitsand » | A iz R
B Seasand I B
~C River sand K c ?W
D Fine sand D B g
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6 Marks:3 | 6 2 Marks : 3
M10 stands for......... U5 10 ... T& 8
S 1386 A 138
B 1:11%3 B 1:11%3
Cc 122 C 122
D 112 _| b 12
V7 2 7 Marks : 3
The curing protects the concrete surface ot ... | 3P waE A w0 w k)
from........ A R el W
TA dayand night 8 &
B sunand wind c i ot TR
C  winter and rain D 3T W6 ot 6-81 aFET
D insects and pests |8 Marks 3
8 . e e PRl S e @ s A
The materials used as pmtaeuveol u R R, ... .. FoRT 1
of structure are known as. .. A Hagd
A strong materials B Rwrs v
B durable materials C e yen
C _protective materials » D Fifer qam
‘D construction materials 9
9 e S 80 Ffer 3 st Wﬂﬂri
The walls which Is directly , . FEaw 81
aclion of load of the structura is kn A Maam
YA cavily walls B N w§d amn M
8 load bearing walls € NI T w81 A 4R
C non load bearing walls | D FRF S0 Tm S
D _ partition walls 10 Marks : 3
¥10 i Fdor 3 2nr, Sews amr maE

While constructing a building, sce

s o Bfer & B ... gk 3

temporary rigid structure having pl A ST H afx
which...=... ;
A Increase in weight : :25{:%
B Increase in height i
/c Increase in size : L L S NMarks T3
¥
D _inchoreririaingd | MimwRmad .. 200 o 7
P2 M e e 1
Underpinning is done in short lengthof........ A 1.50m to 1.80m
A 1.50mto 1.80m B 1.20m lo 1.50m
B 1.20m 1o 1.50m C 1.20mto 1.80m
C 1.20mto 1.80m D 1.10mto 1.50m
D 1.10mto 1.50m R Marks : 3
L Marks : 3 F | G FE 2 A A 0% 9
Which closer is made by cutling a brick TR FIE BT FYI AT 87
length wise inlo two portions? A s T
A Bevelled closer 8 mﬁx EimEe
B Milred closers c R AT
C King closer 3
D Queen closer D
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13 Marks:3 | 13 Marks : 3
Which bond Is mostly used for construction BT @ T Fter s § SRR 3w
work? o o 87

A Garden wall bond _ Wm

v B Flemish bond ¥ B &AM
\JC Stretcher bond e we (dlmq.-ﬁzm)m

D English bond 3 (

14 Marks:3 | 14 . Marks:3
Founda!bnlsthelowestpanofastnm | Pt #1 wad e o @ oo L. @
which provides a base for the... R el s ¥

A Dbasement 1A :

B super structures”

C fiooring

D plinth- . .

15 Marks:3 | 3§ Marks : 3
Spread footing foundation is simplestand | &t & st 7 wwre: ot W ...
commonly used in......... Brar 87

A public bullding ~ p

B commercial building : e R

C ordinary building (K

ial building | B
18 2 - Marks:3 | 18 ] Marks : 3
ich foundation Is used for water logging Bl A AT i & & R sud
area?

-‘L;li '?
A File foundation*” TS
B Well foundation «
C Grillags foundation
D~)Rafi foundation

17 4 - Marks:3
"~/ Foundation is called combined footing, when | o
two footings are connected by a.......... | AT Y
A slab ' : .
B bea
C plinth
D lintel

Q’ Marks : 3 | 18 Marks : 3
Which!oundmlonlsfonnedofwck .mwmm%mmmﬁm
reinforced concrete slab covering the whole ‘ THaIE TEE wd § st 1
area of the battom of the building? 3

VA Spread footing foundation L | A S gor s g

B Caisson foundation | 72
C Pier foundation
D Raft foundation

‘® Marks:3 | 18 Marks : 3

[ Which test determines ultimate bearing B 1l Ty gdde fedt 3t ane e
capacity of soil? - Pty # 27

A Slump test A &

B Penetration test

C Plale load test

D Compaction test«

%
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Qg»ﬁ § ~ Marks:3 Marks : 3
The depth of excavation of foundation fs. A & g i w0 R . 2w
generally measured by....... war wer B

¢ A steellape A wE g

B chaln B 7 (vifi)
C leveling staff C aET ®%
D dumpy level D 3= &=

&21 21 Marks : 3
The best and most common matef Fad srem ol wAd SfYs ae o S
used for damp proofing is......... Tt & A B e sege B omr B

A bitumen A
“B cemenl concrete B FFE
C brick c ¥
D tar D e
Q22 Ty 22 arks: 3
Y Whatis the expansion of DP.C? D.P.C %1 foear 41 g 87
A Different Proof Course A Different Proof Course
. C Damp Proof Course
[+ C Damp Proof Course D Def Plain C i
. D Defectiva Plain Concrete = SELEve oncre e

Vi " TR o D & T B WAH W ..
The floor of a bullding immediately ab 3 = 3w omar 3
ground in known as....... A daRe

‘A basement
S |8 SmEm
C first floor .
D ground fioor , g‘iualm M;rks-a
2 813 | i e e L A
The minimum thickness of granalithic floor >
Is.... A 12mm
A 12mm B 15mm
B 15mm“v C 10mm
{C 10mm D 20mm
D 20mm 25 Marks : 3
25 Marks : 3 gﬁa o ...... § wwa: Pt R s
Marble flooring is commonly provided in...... |
‘A workshop & public buikding E m o
B storage building C M
C godown bullding D FTEF %99
D factory building : 26 , Marks : 3
26 Marks :3 A 9T P T HE 4T @I A 87
Where do the keystones reston thearch? | A gt 13 & g
A Lowest point B 79 fig
. c R o 4 s
]
D Key point D ‘' firg (awl fg)
a5 - Question Paper - Paged/ 8
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27 Marks:3 | 27
The wedge shaped block used in the immtma#%ﬁmﬂw
construction of arches Is called...... B o 2, ... wewE 21
A span A WH
B keystone .ﬂﬂa’
c m | 2
JD voussoir
28 Marks : 3
The inner and under | @il el andt w9 L. s
called......... | umuh
JA  soffit A
B span
C keystone
D voussolr
% Bt
The distance between the springing ‘ Hag
highest point of intrados is cafled...... -ﬂﬁs#mﬁtﬂ R R
JA - hotzontat distance #for 7
B veriical distance vnhttga
C inclined distance gﬁﬂ
D straight distance
30 Mark Marks : 3
Which type of linte! is used in small cpaning? | ww‘%m“!ﬁ*mm
JA RCClintel /1 RC.C R :
B Stone lintel 7'.‘...-,.
C Brick lintel
D Timber lintel @m
3 Marks:3 | 3
The lower half portion batween crown an ' mammmwemmm
skewback of an arch is called........... STEN 57T ... SEww 8|
A springers ._A fesim
B spandril 2B 1B
C abutment 0 g
JD haunch ‘ D B
32 ’ mugg { Marks : 3
The daor that can move both inward and _.', T S A ofe offe A A A
outward direction as desired, is calledas.... | U g9 TFIE, ... FHR B |
/A siiding door A wHERT @ ardt )
B swing door !2 W(W)m
C louvered door C Refel (qu) swmn
JD  glazed door |0 s (a) s
» . 13 |33 Marks : 3
Toreceive the-doorshutter, theouteredge | e @ 5 St =gt 3 U &7 & a4
of frame i provided lo............ BT ... w Proifte T )
A rebate A
2 o A9 (= ez )
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34 Marks:3 | 34 Marks : 3
The lower most (or) bottom horizontal Ul & a9a A w0 d 8o T
member of the shutler is called ... EET 81

A rall J A

B lop rall B i\

/c  bottom rail |c s @

D lock rail D &% W

as Mark 35 Marks : 3
The openable part of the door (or) ols mﬁmmmgﬂ%lﬁmm .....
called. ... aEw 8

A shutter A T

B louver B A

C frame~ c &

D panel D hﬁ

[ SSas ] 36 Marks : 3
Cracks which partly (or) completely separale | zqt & &t & siv: a1 Tofa: FRaT &
the fibres of wood are.._..... , o Sl 8 TeanT 2

AR | A e

B shakes B oo

C trunk c o W (&

D crown_ Fn ?i?m i .

a7 ark 37 Marks : 3
Which door is most sultable for the enl P W QR EE, 9%, §FE S dien
of the godown sheds, shops and show | a3 R w8 dvg o 87
etc ? b

A Panelled door 4 | A T aaw

B Sliding door \h;B S e

C Louverd door . | c dEE T@Een

D Revolving door , D I EST &Ee

L = Marks:3 | 38 Marks : 3
Steel window are stronger and more durable = R i Fom ol it R .
as compared with........... Qmﬂﬂﬂfh

oA giazed window A v Reg

B plywood window B Wm

C plastic window c mm

D Wooden window * D A Rsf

39 ' Marks:3 | 39 Marks : 3
The horizontal distance batween two 5
successive riser faces is called...... ﬁ%@?ﬂﬁﬁlﬂ%ﬂim@

A head : LR

B nosing A R

Ty B AR

D width of stair c da

® T | 00 4 dd - .
ml;onaofmafoﬂowhgbmtntyped ;&sﬁﬁaﬂﬂ #‘fﬂl@ﬁ!ﬂﬁlm

A Flier

B8 Commede step 3 ﬁﬁ(‘?"ﬁmm‘ﬁﬂ

C scofia. Cc

D Round ended steps | 0 7E sFa 'y
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41 Marks :3 | 44 Marks : 3
An ordinary step of uniform width and o A @ a9 98E SN S
rectangular shape in plan Is..... SFET B TURY @29 ... B B
A flier . '
B bull nose step :
C splayed step
‘D winder
42 Marks :3 Marks : 3
Which stair has no change in direction on il & e qat # dig R A
any flight between two.successive floors? 01 T aftrd . 2 87
A Dog legged stair case 5 WA By
B Bifurcaled stair case 8 & wril 3 74 f il
«C  Straight flight stair case c il Far @i
D Helical stair case e, R
43 : Marks:3 | ™ __ .
A king post truss roof is suitable for span ‘;Mﬁmmm oo W TR Y TR W
varying from....... g @ i ¥
A 7mto8m
B Bmlo7m
.C Bmlo10m
JD B5mto89m
44 g Marks:3 | 44 Marks : 3
A queen post truss roof is suitable for span R G 3 BT ... TF TN OH 0@ A S
varying from...... R 4 g 81
A 5mto8m 1A Bm
B 9m and less than 14m “ B 89mand less than. 14Mee—
C Bmto8m € Bmto8m
~D 10mto12m __| D 10mto 12m
45 Marks:3 | 45 Marks : 3
Lean 10 roof is considered suitabla for a '”w%w...aﬁmmémiﬂw
maximum span of......... 1 e R o B
LA 240m ‘ |A 240m
B 1.80m | B 1.80m
C 1.50m C 1.50m
© 200m |2 200m
46 Marks:3 | 46 Marks : 3
Over lapping of bars in a column should Fiem A 83 F 0F F ¢ @ B EAC .
be i @ =g
A 4Dtimes : A 40 T
‘B 24times B 24Wm
C 30times | C 30 R
D 42times D 423
A7 Marks:3 | 47 A P Marks : 3
In grade of concrete, M150 is the ratio | wge § I3 ¥ M1S0..... T 9 ST 81
Olioveois [ ,:2:4
A 124 B 138
B 138 € 1510
Cc 1510 D 11%43
D 1:1%43 :
..
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48 Sy T ~ Marks ”",',‘ = @
Whatis the lachnical name for steel 1 edin | mammwmmmm
the concrete? ' ™ w87
A Fed13 - Fe413
B Fe4l4 | Fad414
C Fedis . Fed41s
D Fed1s . D
e . —— | ‘Marks : 3
hich line is connectsd i l """ tﬁmtm
“segment creatsd as a sing ~wwemmu
7A  Straight line i
B Inglined line
C  Multi line C o | 5t T
D _Poly iing ST . i
s o | 3 A 0w el
Which Is a volatile memory and the data AT o RV B IRm
cycla? ' mmm
A Random Access Memory | , 3 {® ot il
B Read Only Memory G &5 g e
C Central Processing Unit ol o P o
D Arithmetic and Logic Unit. ,
1 \
|
l
. ' b
|
M
h
R
2l
"
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